for ( n = temprowsmin; n < temprowsmax; n++){

c37.push(table.getString(n,12)
tail.push(map(c37 [n-temprowsminl, .113, 6.585,

poff.push(random(@,300)
noiseMax.push(random(2,4)
p2off.push(random(@,300)
sizearray.push(random(size)
MPT.push(table.getString(n,18)
if (MPT[n-temprowsmin] == 1

MPTspeed [n-temprowsmin]l = map(@.03623188406,

if (MPT[n—temprowsmin] 2
MPTspeed [n-temprowsmin] = .03623188406,

if (MPT[n-temprowsmin] 3
MPTspeed [n—temprowsmin] .04964539007,

if (MPT[n—temprowsmin] =
MPTspeed [n—temprowsmin] map(@.02597402597,

5,10)
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0.02597402597,

0.02597402597,

0.02597402597,
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0.04964539007,

0.04964539007,

0.04964539007,




